Addition upp till 100 (horisontellt)

56 +58 =

50+91 =

100 +4 =

79+7=

45+ 55 =

S3+7=

40 + 63 =

59+35=

65 + 56 =

Datum: Poéng:

9+60 =

98 + 88 =

80 + 47 =

98 + 80 =

20+95 =

81 + 86 =

80+ 13 =

69 + 47 =

72+ 66 =

25+51 =
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Addition upp till 100 (horisontellt)

2+93=095

56 +58 =114

50+91 = 141

100 +4 = 104

79 +7 =86

45 +55 =100

53+7=60

40 +63 = 103

59+35=9%4

65 +56 = 121

Datum: Poéng:

9+ 60 =69

98 + 88 = 186

80 +47 =127

98 +80 = 178

20+95 =115

81 +86 = 167

80+ 13 =93

69 +47 =116

72+ 66 = 138

25+51 =76
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